EARAROBEEIERT — 2 N— IBISH —F 20155128128 (+) 5EFU3A

El=re 5007T ¥5%2@| (BA) (5 BR [l [imeom — 2 o0 1w
[A&4] 1 7 10,000,000 § 2 7% :4,000,000 § 3 3#&:2,500,000 4 3% :1,500,000 3 5 & :1,000,000 M
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
Vs = o 4 2 | HRFEIE® 1:08.9 2-2 35.4190.3 | 1 432 | FEEX (ERH)
1l5|g|7¥&7NTva 54.0 =) +2) ) $55Ly K957 5747
N BT RIAYINCF TR RIS
FisEX :08. = . . HFHEET (ER)
5 4 444 T —I o2 = 1(/(\)!;5)) 6-7 35.1] 90.3 5 tg? ECPIGIE%
LN=HNK B:IYRE-FZX BORYUS
. 4 o2 | RNEAS 1:09.0 10-7 35.0| 89.3 | 9 496 | BFEE ()
3 10| ARETLF 55.0 (7€) ey | B EvILy KTy -1
R:7L>FFEaT71 BT E-L =
75 K # 2 | HHE 1:09.1 1-1 35.7| 8.3 | 7 474 | REE— (EH)
4 6 / 54.0 (1/2) @ |FEEA
L:ZATATv— BiANE—Ta P e ]
. — AHEEE :09. — . . fREERL (kA
5lgli3 @7L>FAFTL o2 ne 1(*;095; 3-4 35.5| 8.2 | 2 (424) Jolpars
¥y ¥/¥E¥ BiAyb=TLF BRUS
. # o2 | ARHER 1:09.2 3-3 35.6 | 87.2 | 1 508 | mtEtE (55iA)
67|11 ARETNIAL 5.0 (7E) 4) | B EvILyET7—L
L:wy)EdvR B:T7AYF— JEL EE
N FLEBAIT . = REER (EH)
7 3|7 )—L—J X2k "2 5.0 ! (17;9;?5) 2 98| 83 8 ‘:3[; ;47l/2 b
R:RY—LYv—=— B:aquLFo Eite
P g5 4 2 | HWDHA(E 1:09.2 6-4 35.5| 87.2 | 6 500 | BERFNME ()
8l1l1|&/>Fvv7 55.0 (2 E) (+4) W) 45 7%
:lffraaj B:¥—F— J=HTy—LI
S5 » 2 | BEEETT 1:09.3 6-4 35.6| 86.2 | 14 | 412 | =EFER (KH)
o2 7T¥—F=TN i (76) o | Trn
L:2=/%¥LLy b B:Yvonxy 2155
N 4 o2 | KEEE 1:09.4 9-9 35.5| 8.2 | 3 454 | tEBESHE (G5A)
10 5 hx/40 55.0 (1/2) (+4) panlIE(:PS
L4 a B:INHT4—) N 4%
EL4 42 | - 1:09.4 14-14 | 34.1| 85.4 | 4 456 | BEF— GER)
11/5(7 54.0 (NF) (+4) | HEAE
LBATAT v — BNORIXY Yy Fv— J=HrTr—L
P1) s = B2 | KEHEIR 1:09.6 10-11 35.6 | 83.1 | 10 | 420 |¥BAE— ()
12| 7]12| 7V >ERXF =3 54.0 ) (+2) | AFFRbER
R:RKY—LYv—=— BFI>T7rZAAV> ®ll E—
=\ JIHERS :10. - . . FIIARK (E#
3 ol@75 vnTs— ) pe 1 (150)5 12-13 [ 36.2| 74.4 | 12 :1:324) 1;ai§§zaﬁ
L:xyY—>b—A— B:TIF7U-51F Y e LS
4 2 | FF L 1:10.9 3-9 37.3| 7.7 | 13 | 460 |AHEB (FE#)
141 8|14 V¥ 7 5470 @ 1/2) 4g) | Bl
L:TZRT78— B:bh—t X vy BR&H IXF477—AL4
@ 21 L
£y 46.4-35.5
NO>24 L | 12.0-10.5-10.9-11.3-11.6-12.6
® I—F—@EBIERL
13—7-
23—7F—
33—7— |6,8(11,14,13)(1,2,4)5(10,12)-(3,9)=7
43—+ — (x6,8)11(1,2,13) (10,4) (14,5) (3,12)9-7
[ RN
B Op 8 9,640/ 794K 4-8 8,880M & 3-5 2,390 &R 4-8-10 363,410
BB 8 2,330 8-10 27,400 B E 4-8 41,340M EE 8-4-10| 4,524,960/
4 360M 4-10 8,040MH B H 8-4 82,060M
10 1,890M

ABICOVWTRDTEEERROODE. TR LIV,



